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Sx(x)= 270 ’
K y=g(x)=ax+b,

_ 1
y=»5 b2 ()= #0.
a a

# x=h(y)=
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: fx[hODIH (p),a < y < B,
. _
AN Jyr(y) { 0, A,

FY=aX+bWBMEZEN

=707, —o<y<wm
al a

Py

a

1 1 o B Y=aX+b
— ¢ c
a\2no ~ N(au+b,(ac)?)

_[y—(b+ap))®
1 2(aO')2

“ldo2n ’

—0 < y < o0,
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REEV = AsinO@, L+ 4 Z—NC st iEF

%4050 R—AMMEE, BA 0 ~ U(_;”z‘] &
RKEEV GBEEE .
B % v = g(0) = Asin0 £ (—’2”2‘) ik
g'(0) = Acos > 0,
)

FTVABORILA 0= h(v) = arcsinz,
1

h'(V)= \/Az _vz .
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O~ U(— g ’2’) ke O IR B EH

L
fO@)=<n’
0

HEEIFV = AsinO R FBE H

flo 1
p(r)=1m A -’
0, ﬁ%o

, —A<V<A,

\
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K g(x) BRESE FH,ZF X ZHEHRAMMNE F, 1
Y=g(X) LR BHAMMEEZDG?2E X &L
EH?

= X ZBBAMNE & ¢ G BAELZH FRA2
THRBEEZ A, B Y ¢IRAA 4 ZH FRAR T 5] L
REANEHLY REHRBEMNEET . ZX A EERM
MEZ,RLAY F—RAEZAENE E.

o AR 3 th bk @@C’S



E XA (0,2) LIRS 0A BEZES

1
— 0<x<2,

f(x)=1:2"
0, it

x, 0<x<1,
1, 1<x<2.

XIKFEEZFBE y=g(x)= {

MY =g(X) ¥ aH & F,(y) Terit E ik -
BT Y @BRAEA [0,1],
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—____
4y<08, F,(y)=P{¥<y}=0;

Zy>18, F)=P{¥<yl=1
H0< y<1Ht,

Fy(y)=P{Y < y} = P{g(X)< y}

fdx=[" f(x)dx

g(x)sy

dx—Z
02 2
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0, y <0,

MY @R EEA F,XY)={", 0<y<l,

y
2
1, y>1L
B A F,(y) £ y=14F 8,
HY =g X)FAZEERAMMEF,
X EH F,(y) RN F3,
MY =g(X)LAREABHKAEMMEE.
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